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EHHE = E 9,000,000 9,000,000 0[100F x 90,0004
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F O £ 0 0 0
B B £ & I A 0 2,492,160 -2,492,160
8 # £ I A 452,700 452,700 0
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BEESERRA 7,000 7,000 0
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SR ELSIEIRA 0 0 0
SEEEELEIRIIRA 0 0 0
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£ IR A 1,170,000 1,070,000 100,000 |EEENGEBAE M KRR MURARNRE | BB
' A = 0 0 0
HEIRAEEHA) 81,441,700 83,995,860 -2,554,160
BIHA AR ERE 38,153,247 37,097,128 1,056,119
IRA&E(B) 119,594,947 121,092,988 —1,498,041
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15 B B 53,258,943 56,215,778 -2,956,835
1. A lin & 17,500,000 17,500,000 0
Mk’ B F H 2,500,000 2,500,000 0
)% 5 F H 11,700,000 11,700,000 O|iE#HE . EFL
3t % B &£ & 3,300,000 3,300,000 0|E4E&. HFBRE. ERRIRY. BEEsi#He
2.x B & 600,000 600,000 0
(1K = & 200,000 200,000 0
)% N & 400,000 400,000 O|BREAMESE
3. E= g 4,300,000 3,300,000 1,000,000
MK = & 900,000 900,000 0
) £ = & 3,000,000 2,000,000 1,000,000 |&{FEES, BES
RXHME & & 400,000 400,000 0|ZHES
4. B T & 150,000 150,000 0
5.l £ T ERE 700,000 700,000 0
6. B8 ® & 900,000 900,000 Olpmme. sxnm. raratun. Segnsnen B2xen AEEs
7.4 kK WKk B 2,000,000 2,000,000 O|RE - EHRRE
8. % % g 7,200,000 7,100,000 100,000
(1) g 7 400,000 400,000 O|#1I4B%%R. DVD, 2
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(4)K & }t 8 & 1,800,000 1,800,000 0
B)E B F R & 1,000,000 1,000,000 0
B)F A & R &K 5,433,043 5,525,678 -92,635
10. & B = 3,300,000 3,500,000 -200,000
(1) B & 800,000 800,000 O|BREE. B, HENSE
(2B & & 3 & 1,500,000 1,200,000 300,000
BKERE S 1,000,000 1,500,000 -500,000
11. & (3 # 2,236,800 2,978,600 -741,800
(1) BlEETHREEERIR 1,536,800 2,678,600 -1,141,800|(6,800) x (2234 +3i% A)
(2) Z D ERIEF 700,000 300,000 400,000 |88 K KARIRH . REBGEREE
12. %X 8 X 1 € 542,400 544,800 -2,400[200M x 124 A x (2234 +33%A)
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I % x = 18,450,000 20,650,000 -2,200,000
1T BEHNERESE 9,850,000 12,050,000 -2,200,000
MEBZEHESE 3,000,000 3,000,000 0|2 ABHES4E. EFIBHESIE. ERFIFHES. ZOMHESS
) ASEHES 300,000 300,000 0
BHIEB K = 500,000 500,000 O|ERBHHE. HESHBEMER
CNEEES- 4,000,000 6,500,000 -2,500,000 |FssE @ aEH L 4—. REEKS
(5)X B8 B B & 1,500,000 1,500,000 O|FHERBIRL . K EBIRL. EB BB LMK (9% E)
(6)8F % B Bk & 250,000 250,000 0
(7))—HILYR—r B & 300,000 0 300,000
2% B8 ® & 4,000,000 4,000,000 O|EER, HHEER. K BENEEES
3. Ik R g 4,100,000 4,100,000 0
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)= F 17 1,300,000 1,300,000 0|&#|H1T (4E) . A H—K
4.2 B F 8 & 500,000 500,000 O|EXFEHERES
m & = & 18,690,200 16,866,100 1,824,100
1.BHREBESR 18,170,400 16,344,000 1,826,400
(1) BELE— & 12,746,400 12,802,800 -56,400| (4,700 x 124 ) % (2234 +3i% A)
(2) BB EEBERSHISE 1,898,400 1,906,800 -8,400 | (700F x 124 B) x (223% +3i% A)
(3) HEEMHEE XA RE 1,627,200 1,634,400 -7,200| (600F x 124 B) x (2234 +3i%A)
(4) BRI ETMRBIEEESFIRE 1,898,400 0 1,898,400( (700 x 124 F) x (223% +3;kAN)
2 EJn&aEs 519,800 522,100 -2,300(2,300M x (2234 +3;5A)
V&% ®H £ 11,200,000 8,900,000 2,300,000
1 HHBABREILE 5,000,000 5,000,000 O|BA A £ A 5128005 M
2 REBRBEILSE 5,000,000 3,000,000 2,000,000 |[&fEIS#EFE L & & 51,6005
3. AEtE IRl E 1,200,000 900,000 300,000
V M & 1,000,000 1,000,000 0
1. 5% M & 1,000,000 1,000,000 OliRAFHH. BTRE . EATHRE. B, FA/
VI ¥ fg & 16,995,804 17,461,110 -465,306
HHIZHEEHC) 119,594,947 121,092,988 -1,498,041
2 HAUR X = ZE(A)-(C) -38,153,247 -37,097,128 -1,056,119
RER#E N 32 = %8(B)-(C) 0 0 0




